WY 258 Az

[R] A1 EAA]

HelgHEe| 25 2| 0|2 X H3A ME U

As|Ajo|t{ClEtm sld=3| 54l

JHeld bl oAl
ol &= Mz &2 [ ] =8¢ o8 [ O] ®3%t ®z
+ =
2 = X
=M 2| 0|Z7|zte| YAl cox d o
(=& 2| 0|82 49)
Msies
d3s|Atole{CH et o o Hd™
k= 1lo| od x|
I'” 7|t|' | a5 crcixt A & ol k5
(M3x} xlZe| <) o
MEHHS 02-3299-8764

olsL MZst i,

x| e 712}

2022.04.04

0| Z3AHL MSh el

ol E= NHZ29 BHXN

JHRIHEESH H18x M2& 25

olg 25 i
ABeE 25

O[Z3tAHLt H|
M IESE R Rt

HelgE HoH
18z~ 5&hl| w2t

rete st Lo
xx|g ofE Ae
283t 220l 1 U8

1. B|2EEE F S0l 0| dlojet YA S CIsth 0| g T=5610 YS3| 22500k
stoq, o At A RS MB3RIOlAH DA SHAL FHAE Feot A= LA|2

3. HIZRHYEE M3AL AHEStAL U222 LS & moll= X[A glo] I A S CH=tof|
SXIsto{of 5toq, etz zioll Yot He =4 o|elof ChE XLt JYLe| PHOE AE
o 4 glend, ElRlol|A 2z, o|F, S745to{M = ot =t

4. EOZRE MBS B|LHES 2A, YL, X2 S| 89
a]

£ StodM= ot e

o

|[RHEE sk Aoz 7HelH 2ol 2ot s I 22|- =2 HAISH0{of

EISRAl HSE2 Ao ANR(SA 3ol o A7 xE)E thete| 27 w2t
K =]

5to)
o gz st O SYE il SEAMZE HESto{of eict

210mm X 297mm[ A EX[(EZ) 349/ m' ]



ol
&

tjo

5t 15 ~ 95

" M[18=2| 2

=

g

—

. 74

o O|&-H& =/

W | |y | A
G% |E |BR)g
0 <+ g | ©
00 - 1 U T | o
o < ol _
A Bl & Bloop | X
Kb zr © R
— Mo ol I or | O
] ol o _— 3
N o = __ o |
3 N K0 e
. m <0 0 — H
S K ulr Ho m D
I = 3
%0 I ES _ M
= < oF ok
oo B M = I T
L_._ = O_l Iq_l ._O._ Lr__ 70 O_I
3 .._AA_v ) _.,,AJ H tH Bl 0
m N
— + o ! R XL o -
— +y &0 OF | of i W | KO Bl %
| RO 5 & =) a1
T o | U fo © ® | A S o | H
= 1of ~ JaLagi== T N = o 10 0
== | X 2%F | = T T oF [V &
> H zo | 1 N3 | = | 1
= = KO | 5 o3 | Jo ol | 2
oF ||| © oF o | oF
20 | o | RO | of ny ol oo <k Kol En | o
_ H | zr oF | & = oju oF
MEIEE AR INEEE: x| & |2
~— |5 | T ol |oT m__m <k Z ~ | oF | of
Nl go | T a5 @gn | uo oo pp | Of = 1
ol | £ | RO Mo | _ g | RO o | IH
o <8 | x| o o1 of | 1 =
5 | B e I I B - S U (I
REL n m_E oF | | g | Ho | g H
s | U o | g o | 5 o1 | a1 | D
— | & | 3 W g | 5K ol ] 3 < | | N0
S| o5 |,m= | ME ok | | & | 5
R olgp [ R oo _ | X0 o | dw | | |
Ki- K- of | RT W | RO RS BT BT
H W | HEd| XTI |odX ol | |H| &
RO | T |ROX K |Mop | =S | K of | 30| 50 | R0
of | o 1] 10 1o 1] of | 1 | of
— (qV] o < n O N~ [ce] ()}
100 | 300 100 100 100 100 10 | 300 | 300
o |~ | N N I NN NN
o | B 3 = =3 3 IR |®
0
K K] K1 K4 K| K| K
0] [o0] [e0] 0] [e0] [e0] o] [e0] [e0]
" | R 3 3 3 3 " IR | K




